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(H64 = 626 6. What is the square root of

1. What is mﬂquﬂim?
g
((-35) +'I}'I'D+l+u‘19?
10 205
a) —
- fa) 1
100
b S5 (b) 2
€ 8 @ 3
9. (k+4)is a factar of which one of the following|6:  What is the number of digits in 2407
expressions ? (Given that log,, 2 = 0-301)
b +Tr-44 ® 18
(€) =£-Tz-44 © 13
d) x*+Tx+dd .

3. If o and P are- the roots of the quadratic

equation 2x7 + 6x + k = 0, where k < 0, then| T  Ifomemootal

thiilﬂ]-ﬂﬂllﬂﬂﬂﬂ?ﬂuunfE+E? (a?-5a+3) 2+ (Ba-1x+2=0
i is twice the other, then what is the value
(a) 2 of ‘2" ¥
b) -2 @) %
) 9 )
dy -9 ib) =
4.  Consider the following statements : (c) %
1 If a=he with HCF (b, ¢) = 1, then ;
HCF (¢, bd) = HCF (e, d). @ -3
2. If a=be with HCF (b, ¢) = 1, then
LCM (s, d)=LCM
Whid i (6 b0 8. What iz the remainder when the number
ofthe s (4444)%% i5 divided by 9 7
" Ty @ 4
(b) 2enly @) -8
{e) Bothland2 @ 17
(d) Neither 1 nor 2 dy 8

BLE-5-FDE (2=A)



[0064x 525 pros oo a s 5, (039°+0T0+1 10 o inm @
\’HIH:I » 484 25
i@l L v
99 ia) 1
(b) % (b) 2
@ 8 e} 3
d) 99 d 4

2. (x+4), Freifefian siast 4 & fibew TEE |y o903 s 4 du R £ 2

Lk (e v & 5 1og 2 = 0-301)
(@) = -Tx+d4
b) e Tx-d4 W

e} 12

) xo+Tu+dd

d 11
3, M ool p e afteer 2 s Gx 4 k=0, FE

k<08 wm §, @ %+£ 1 Awod 7|7, af we (ot -ba+ Sixt + (Ba-1x+2=0

1 U HF EqE WG R, @ e
e L 4
a) 2
b -2 ia) o
) 9 .
@ -9 ® -3
1
4. Tofefn s = few Fif @ 3
1. A a=he T HCF(b,¢)=1 @ 1
HCF (e, bd) = HCF (¢, d). 3
2. % a=be ¥ HCF(b,c)=1, A ,
LCM (a, d) = LCM (c, bd). 8, 74 5E (4444 w1 9 & Ffem e T
i o W w0 #, ot S w0 e @ 2
(a) &&® 1 (a) 4
(b) a2 b 6
(e lmﬂ.ﬂ ed 7
@ A8 2 @ 8

BLS-S-FDE {3=-A)
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a+b-Ja—b
If xo ¥® A, then what is
;|-'a+h+:|-la—l:|

bx® - Zax + b equal to(b=0)?
(a) O
b) 1
ah

()

(d)  2ab

What is the value of

(4434 547)° + (448-547°
443 443+ 547 x 547

(a) 0
m 1
e 2
dy 3
i t

If x=tt-! and y=t'-1,150,t# 1, then
what is the relation between x and y 7

(a) y=x\¥
IS
6) ==y

d xF=y¥=

12,

13.

14.

16.

(4-A)

- d)

IfTA: B =3:4, them what iz the value of the

EX gion (347 4 -!B} 7
pres !ﬂaﬁ- 4B? )
43
(al —
T
43
hl - I
47
{E} E
{d} Cannot be determined

If A = {x : x is a multiple of 7],
B={%:xisa maltiple of 5} and
C = {x:xis a multiple of 36],
then which m&ofﬂw_fﬂﬂuwingiaanull set?

{a) (A-B)UC.

(b) (A-B)-C

{© (ANBINC

{ (ANB)-C

If x=2+2%% 4 918 then what iz the value of
X - 6x® + 6x 7

3

b 2

€ 1

d 0

EF:E—iJ-JE
¥ o x
te. the value of xy 7
(a) &
b 15
(e}

and x + ¥ =26, then what

26
an



g, I_,a+h—,||a_—h Gl
_;ia+h+.-,|-'a—i:|1

bx? - 2ax + b e SR B (bw 0) 7

fa) 0
by 1
(e} ab

id) 2al

(4434 54T% + (443- 5472

10. 448x 443 4 54T = 547

a) O
® 1
c) 2

dy &

1 t

11 =f :l=1:ﬁ i _j"--t.m. t}ﬂ,t!l,ﬁ

x # y & wog T 7
(a) y=xl

B 1 =yl

@ ==y

) F=yl

AR ?

12.

13.

14.

16,

(5-A)

, 7
aE A:B=3:4, 0 Haw AT +4B | TR
3A — 4B*
w Ry
43
'::H] E
43
b -—
55
47
el EE

(d) P T m www

“ﬁh-l::;?ﬂﬁwt}r
B = {x : x, 5 %1 % o ) 3l
C = {x : x, 36 1 T% 4 #],
7t Frfofim & 4 SR i o 2 7

(@) (A-B)UC
by (A-B)-C
el (ANBINC
d (ANB)-=C

R ox=2+2" 2" @ oW
THEEY

(a)
{b)
{c)
@

= = 3 a3



18. What is the solution of the equation
x log,, Ild—ﬂ+ bog, o 3 = log,, 12 -3 +x7?
a) 10
by 3
el 1
dl 0
17. If @« and p are the roots of the egquation
x2 4 px + q =0, then what is o + p* equal to ?
(a) pﬂmﬂq
(b} of-2p
e} p*+2q
@ q'-q
18, I a®=335+1° and a=5+b, then whatis
the value of a + b (given that a > 0 and b > 0)?
fa) 7
(b) 9
) 18
(dy 49
19. If 9 = 2187 and 2% 2% _ 4% =0, then
what can be the valoe of (x + v) 7
(a) 1 '
by 3
fc) &
dy 7
BLS-5-FDE
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21.

(6-A)

The pair of linear equations ex ~ 3y + 1 = 0
and 2%+ ¥+ 3 =0 intersect cacn other, if

lal k=6
(h) k=@
el k=0
(dl kel

The number of prnme numbers which are less
than 100 is

a) 24
(b} 25
el 26
dy 27
The cost of a diamond varies directly as the
square of itz weight. A diamond broke into
four pieces with their weights in the ratio of

1:2:8 ;4 If the loss in total value of the
diamond was T 70,000, what was the price of

the original diamond ?

() ¥ 1,00,000
(b) ¥ 1,40,000
{e) ¥ 150,000
(d) ¥ 1,76,000

Ina lﬂﬂm:m,hmmatuapeedﬂfg mfs. If

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B 7

i

{a] — mf
i

(b s ms
]
1

(2] E mis
]
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II 10 — f L I
xlogyg |5 |+ 10813 = logyg {2+ 3% +x |

R CEE R
lay 10

by 4

€ 1

i 0

Tt o 3 p, THEW o ¢ px 4+ q = 0F 7 E,
A o + p* foms w2

(a) p*-2q

b) g°-2p

€ pP+2q

) gf-q

A % =235 +6° @ a=5+bMasb®
AR (R mm i Fasositbnso)?

(& 7

(b) 9

f¢) 16

(d) 48

af2 o* 9 = 2187 3 2™ _4M oy, &
(x + ) 1 WA T B w7

(a)
(b)
{t]'.

-1 & o =

(d)

21.

(T-A)

(20, T iTEE HHE kx o+ Oy + 1= 0 #H6

2+ y + 3 = 0 TH-GH F1 W= w3,
afs

fal k=8

hl k=&

el k=0

d) k=0

100 # S 3T st {prime numbers) &
e §

(a) 24

thl 26

c) 26

dy 27

B W U sk aE % @ & AEY Yy
wiafia &M & | v E s uw d g s
U T W AT 1:2:5: 4% 1 aR &R
% FF g R T 70,000 F TFEA ga0A, @

it 1 il e wmoa
(a) ¥ 1,00,000
(b) ¥ 1,40,000
(e) ¥ 1,60,000
i)y ¥ 1,75,000

100 m 1 v A2, A, g mis #t T & drem
IR A A B, 4mam (@ A
) # M gE wm & ol fodfi A W
pHFE e, A pFifam iy

(a) % mis
(h) % ms
el % mfa
(@ % s



24.

If 15 men take 21 days of 8 hours each to do a
piece of work, then what is the number of days
of & hours each that 21 women would take, if
% women would do as much work as 2 men 7

(a) 1B
{b) 20
(e} 26

(d} 30

What number must be subtracted from both

the numerator and the denominator of the

hﬂﬁm%mﬂlﬂﬂmg?

(a) &
(b} &
(c} @
d 11

A sum of ¥ 8400 was taken as a loan. This is
to be paid in two equal instalments, If the rate

of interest is 10% per annum, compounded
annually, then the value of each instalment

s

(a) T 4.200
(b) ¥ 4,480
(€) T 4,840

(d) None of the above

(B-A)

Leela got married 6 years ago. Today her age
is lihm her ape at the time of her

marrigge. Her son's age is %ti.muﬁ her age,
What is the present age of her son ?

(a) 1year

(b) 2 years

{c) 3 vears

{d) 4 years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in

30 days. In how many days can A alone finish
the work 7

{a) 18 days
(b} 20 days
(c) 24 days
(d) 25 days

The values of x which satisfy the equation
5l*% . 51-%-9G are

(a) =1,1*
b 0,1
@ 1,2
d -1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6§ women is

: 1
(&) '?Eliﬂj"l

(b) Bdays

1

() 12 days



24, aft 8o wffi W W 40 15 e v ww |27, W W AR 6 T O gen @ | W e
e il @ o emE eR mg,m%;ﬁm%mﬁlmaﬁn%ryﬁ
T A fem fm §
bbbl BRTEPPEEEREEEY
mjﬂﬂh ' 3% 71 R T AR
(&) 17
W 18 ® 2
b 20 (e kL]
) 47
(e} 25
28, A3 BUE O T w0 v o o 2fAd
(d a0 o ¥ el §, wafE B o 3w W
30 T2 9 W # | A T R AT
TR H TR e g 7
35, h%%mmmﬁiimﬂm @ 18 %A
mmmha;%ﬁm.? & 20
© u =
(a) & 5 &
® 8 g0, BiwM 5'*T 4 61T = 26 W HEE T AW
_ :%Hﬁﬂﬂ-ﬂi?
() 9 @ 11
@ 1 ® 0,1
) 1,2
d -1,0
. ;‘m?ma:ﬁ?iﬂtﬁ'ﬁm R 5 et oF w1 w5t 10w = ot §
Pt bt Shae wiein I P kbR bl
3 9 webe o w1 T 4 7 o 5 s ik 6 ohch e e ) ot o
' kool
(a) 4,200 w T%ﬁi
(b) T 4,480 o 8f
¢} 4,840 @) gifﬂ
@) o F & w7l @ 12fm

BLS-S-FDE (9-A)



31.

A pasgenger train departs from Delhi at 6 p.m.
for Mumbai. At 9§ p.m., an express train,
whose average speed exceeds that of the
passenger train by 15 km'hour leaves Murmbai
for Delhi. Two trains meet each other
mid-route, At what time do they meet, given
that the distance between the cities is
1080 km 7

{a] 4pm.

(b} 2 am,

{e) 12 midnight
(d) Gam.

In a class of 49 students, the ratio of girls to
boys is 4 : 8. If 4 girls leave the class, the ratio
of girls to boys would be

(a) 11:7
.ﬂﬂ' B:7
(¢} 6:5
dy 9:8

If a+b=5 and ab =6, then what is the
value of a®+ 1% 7

(a) 36

(b) 40

(e) 90

(d) 125

Rajendra bought a mobile with 26% discount
on the selling price. If the mobile cost him
T 4,875, what is the original selling price of
the mobile ?

(a) ¥ 6,300

(b) ¥ 6,400

() T 6,500

id) *6600

(10-A)

85. A 225 m long train is running at a speed of

30 kmvhour, How much time does it take to
crosg & man running at 3 km'howr in the same
direction 7

(a) 40 seconds

(b} 30 seconds

(g 25 seconds

(d) 15 seconds

Which one among the following is the largest 7

T
(a] —
.1

11
(b) 14

3
)] I

10

id) ﬁ

The difference between the simple and the
compound interest on a certain sum of money
at 4% per annum in 2 years is T 10, What iz

the sum ?

{a) ¥ 5,000
by ¥ 6,000
e) ¥E6260
(d) T 7,500

If a% of & + b% of b = 2% of ab, then what
percent of ajs b 7

()  60%

by 7%

e} 100%

(d} Cannot be determined
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ﬁﬂm-ﬁﬂﬁﬂ'ﬁp.m.ﬂﬁﬁfﬁw#m
weaH FE B | % T e,
sfvem f TEdl ME @ 15 kAT @S R,
9 pm. W P @ fopft & o wadt & 24
temfeat weaam i wwagE & e 0 N
e fem e fidhl, af 21 w0 & &=
1 gt 1080 km ® 7

(al 4 pm,

(k) ° 2am.
fe) 12 AEWI

(di &am,

49 Teenfekat 1 v e o, welEat 9 Tl @
Fgom 4:3 % | AR 4 TEkel s oty 4 E,
ot et & el & ST 1w 7

) 11:7
by &:7
e} 6:6
(d) 9:8

o g+ b=53 ab=6 @ & + bW TH TN
&

{a) 36

(b} 40

(e} 90

(d) 125

W 3 B TR W 5% 9§ WM U
s @i | of T ohms T o475 d
g, i e = s Ay e g e

(a) ¥ 6,300
(b) ¥ 6,400

) T6500
(dy ¥ 6,600

(11-A)

. 995 m W U A 30 km/SE S TR OB

- it | e wEd w A kmw R
it s midem g, m

Fid o TR g &t 7
ial 40 EFTL
(b} 30 HF0E
(¢) 25%5FE
(d) 16%WIE
. Paftfmdashm et sz ?
7
(a) 5
11
() 7
3
|:_l!!] ;
10
(d) m

. TH O W s v fiww o o, ww

q Wiy S w1 S € 10 # | w0t
g7

(a) ¥ 5,000
(b} ¥ 6,000
(e} ¥ 6250
d 7,500

Ak o H a% + b F b% = b H 2% F, A 2 W
forn wftma b 2

(a) 50%

b 75%

(e} 100%

(d) Freren T 1 v
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5 th

g part of the population in a village uﬁ:ll’a'

males, If 30% of the males are married, thef
percentage of unmarried females in the l.l]ntall
population iz i

2 |
n) ﬂﬂ—g |

(b 27% |

Sumil wants to spend T 200 on two fypes of
sweets, costing ¥ 7 and T 10 respectively.
What 15 the maximum number of sweels he
can get so that no money is left over ?

fa] 26
h) 26
el 27
id) 28

What is the LCM of x* + 8, x° + 5x + 6 and
x4 dx® ¢ dx ?

(a) x(x+2Pix+3)(x"-2x+4)

b} mlx-2PF(x-31xf+2x+4)

@) E+2Fx+3x-2x+4)

id) (x-2F -8’ -2x+4)

The HCF of two expressions p and q is 1. What
ia the reciprocal of their LCM 7

fal p+q

(bl p-g

el pg

id) (pg~?

(12-A)

What is the value of

(a)

]

(h)

—

,.,
a
-

olpn Gtk En|B3 Em|te

=]

(d)

A thief iz spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief alse starts running. IF the
apeed of the thief 1z 8§ km'hour and that of the
policeman is 10 knvhour, then how far will the
thiel have to run before he is overtaken 7

fa) 200m
(b}  B00m
ic) 400 m

(d) 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
i4, 3). Alok made & mistake in writing down
the coefficient of x to get roots (3, Z). The
correct roots of the equation are

@) -4, -3
(b} 6, 1
fe)- 4,3

d) =86, -1



59, qaanhﬁmﬁmm g ﬂmﬂﬁﬂflﬂﬁﬂ_ ?l.;_l.%aﬂnﬂﬂrﬁ?

we e g § @ @ wwEm 9§

wiffien afgenadt 1 sfom fm 2 7 (a) 1%
@l Eﬂg (b) 1%
) ETE (e 1%
i z'r;i () 2%
(d) zng

3w S W 100 m F A Rl
40. gﬂﬂ!mﬁmﬁﬁmﬁmﬁm“ T el
aEa E, PR g T T I T 08 | mrmMimmﬁﬁ,ﬁ#
firargdt & wy ftew wem T &, Bl W w ot v won | Al W R 8 kR B R

FE T AT 7 feramft 6t 7 10 ke B, W THE I E TR
(@) 25 i it et gg W gm 2
) 26 (a) 200m
e} 27 b 800 m
s (¢) 400 m
-l]. x4+ 8, ¥ +5x+6 3N x4 4 + dx W (d) 500 m
LCM &0 & 7

(8) zix+2P(x+3ixi-2x+4) 2 s S -

B xx-2PE-HE+=x+ 8 w0 W W e | e i w Rl am
(¢ @+ @eDE-2m4 ) et A R 4, 8 FER | AEE e
@) @-2F@-3)E-2x+4) 1 T ferEd wwa et w4 A (3, 2)
frmrat | wnfton % wd o &
42, 3 =@l p 3 o F HCF, 18 | 3% LCM #I G
A TR (a) -4, -3
(a) p+q ﬂ;: 8 1
(b} p-q I[c]. L8
{eh pq :
{d) {qu—l @ -8 -1

3LS-S-FDE (13-A)
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Consider the following statements :

1. Oftwo consecutive integers, one is even.

2. Bquare of an odd integer is of the form

8n+ 1.

Which of the above statements ia'are correct 7

ia)
(b}
{e)
(d)

1 only

2 only
Both 1 and 2
Neither 1 nor 2

The system of equations 2Zx+4y=6 and
4x 4By =8 ig

(a) Consistent with a unique selution

(b) Consistent with infinitely many
solutions

Inconsistent

None of the above

(e
(d)

(N®~' - 1) is a multiple of p, if N is prime to p
end pisa

{a) Prime number

(b} Rational number

() Real number

{d) Composite number

The ratio of two numbers is 1 : § and their
product is 320. What is the difference between
the squares of these two numbers T

(a) 1024

(b) 1266

(e) 1536

(d) 15640

25 kg of alloy X is mived with 125 kg of
alloy Y, If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 : 3,
then what is the ratio of lead to tin in the
myixtire ¥
@) 1:2
b 2:3
ey 3:5
@ 7T:11

al.

(14-A)

The mean of 5 numbers is 15. If one more
number iz included, the mesn of the
8 numbers becomes 17, What is the incloded
number ¥

(a) 24
(b}
(e)
(d)

25
28
a7

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be 80 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

() TO

(b) 65

(c) &0

id) &0

Consider the following distribution :
Class Frequency
0—20 17
20 =40 28
40 < 60 32
60 - 80 f
B0 = 100 19

If this mean of the above distribution is 60,
what t5 the value of f T

(a) 24
(b)
(e
d)

£ 8 K
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ﬁﬂﬁfﬁﬂﬁﬁﬁﬁﬂﬁﬁm

L & HTm ot § % s R

2 R plE S Fan+1FEH
o wat 1

ol Fe § 3w i A o

{a) %HEHA 1

(b) e g

() 13 28

() FIdLaH2

wfta T 2x + 4y = 6 3N dx + By =8
(a) T Al wA % v W #

(b) FaA: HE Tl & WY T

(c) THTE B

(d) I & wf

p 1 U IR (NPT o R, AR N, p @ s
o pRum

{a) AU HEN

by  witiE HEm

{e) AT wE

(d) W= T

49, % TEWI AW 1: 5 S0 I T

BLS-S-FDE

320 & | S & wEE % W % €9 W AW
YT

(a) 1024

(b) 1256

() 16536

(d) .1640

25 kg FiEag X F1 125 ke Tomeg Y & @
faftm fomm | afy fiereng X & when o dm
(#17) & wEn = ST 1: 28 i feag v
da sl dm v W s 2R, A @
fepsron # v afte dm w1 arg A 7
@) 1:2

by 2:3

(€) 8:5

@ 7:11

al.

(15-A)

5 GEAlAl W WTer 16 # | IR v R wem
A T, A 6 EEs W oA 17 AR
T T EEn T d 2

{a) 24

by 25

(c) 26

d) 27

farft fimm o 300 Tt zm we fen M
=] F oited 60 # | v = % 100 Rl

% wi o ol 0 T T A el o %
100 faenfidiat % @t =1 afem 50 90 T
¥ @ 100 Rrnfdat % siwi = afvm feem
{a) 7O
(b} 65
e} G0
id) &0
frfefign o2 w foram <ifam -
7 gl
0—20 17
20 - 40 28
40 - 60 32
60 - 80 f
80— 100 19

ufe Tedw det 1 e 50 B, W W OHA T
L&
(a)
(k)
ic
(d)

2 2 E R



BLS-5-FDE

In a pie diagram, there are four slices with
angles 150°, 3¢, 60° and 60°. A new pie
diggram iz formed by deleting one of the slices
having angle 60° in the given pic diagram. In
the new pie diagram

(a)
(bl
()
(d}

The largest slice has angle 150°
The smallest slice has angle T
The largest slice has angle 180°
The zamallest slice has angle 90°

In an asymmetrical distribution, if the mean
and median of the distmbution are 270 and
220 respectively, then the mode of the data is

(a) 120
by 220
(] 280
(d} 370

Let a, b, e, d, &, ; g be congecutive even
numbers and j, k, [, m, n be congecutive odd
numbers. What iz the average of all the
numbers 7
dfa4+n)

2
(5] +Td)

4
la+b+m+n)

4

MNone of the above

(al

(b

(c)
(d)

An individual purchases three qualities of
pencils. The relevant data is given below :

Money
gpent (in )

i mir;eﬂf %)
A 1-0d &
B 1-50 ) X
C 2:00 a0

It is known that the average price per pencil 18
¥ 1-25. What is the value of x 7

() ¥10
(b} T30
e} T 40
dy T 60

5R.

a9,

(16-A)

Congider the following frequency distrbuton

——T

—
x | Frequency | Cumulative frequency
|
|
1 8 & i
|
2 10 18 |
3 fy 29
1 fy 45

What are the values of f; and f; respectively ?

fa)  10and 17
(b) 17 and 10
(e} 11and 16
({d) 16and 11

If D is the number of degrees and R is the
number of radiane in an angle 8, then which

one of the following is correct 7
(a) nD=180R

®) D =90R

{e) =R =180D

(d) =R=90D

What is the minimum value of
9 tan® @44 cot® 6 ?

(ah 8

b -9

fe) 12

d) 13



4.

7.

BLS-S-FDE

UF AR (pie diagram) ¥ =W wmi % Fo
160, 90F, 60F @ 60° # | fu T gE & so¢
FIM FE W H T W US A4 NG
T 8 | Y g

(a) TEH TE W W FW 150° 8

(b) FEH B WW w R 70°F

(c) HEH T2 M F FO 180 F

(d) TEE TR WW w Hm e0s}

UF FENiiE W24 H, 37 92 w0y 9 g
w0 2709 220 §, @ AiHE] W ageE w0 8 o
fa) 120
by 220
(e} 280
() 370

9 N a, b, ¢, d, e, £, g FETTE G0 g §
3N j, k, I, m, n ®ErE B dend § | o
Tl e = g

3ia+n)
F:] 3
(6 + Td)
4
a4+b+m+n)

(b)

(el
4
(d) I A & wd Tl

v v d wew # e wlen @ | gag
| 255 |0
A | 100 50

‘B 1:50 3
c | 200 20
o wa § v 9fm # ofea g T 126
b xwmomwmi s

@) 10

®) T30

el T40
id) ¥a0

69.

(17-A)

o | wmE | weh aE
1 g 2]
2 10 ik
3 f 29
4 f 45

f, 3 £, % 79w w7

(a) 10317
(b 17310
Sl 1Eitie
@ 1631

ofg feeft w0 #, D sl H mn RO
:‘rﬁm!ﬁi’rﬁnﬁrﬁﬁﬁﬁmm#ﬂﬁh

T
(a)
(b}
(c)
(d)

=0 = 180R
=D = 90R
all = 180D
nR = 80D

Otan’ @+ 4 ot OFH HUEM AR TR 7

a) 6

) 9
(el 12
d) 13



4z tanf ws' A - sintA

61. If :tsinl}:].rMEE:]_mnEE,thenwhatla 65. What is T, equal to ?
42° [ + ¥°) equal to ?
(a) (x2+yP {a) cos”A—gin®A
b -y ib) cosA-sinA
e) (x*-y"?
@ sy il
dy 2

62, ]fmﬁl+mﬂﬂ+mﬂs=3,manwhﬂis

- - : to 7
win O + uin Oy + &in Oy equal 86. If Teinx+3cos?x=4, 0<x<80° then

(gl 0O what i5 the valoe of tanx T
b 1 (a) 2
e} 2 m 1
dy 3 = _‘E
2
@ =
63. What is the value of 8 which satisfies the J3
equation cosf+tan @ w1 7
(a) 0*
) 80° 67. An seroplane flying at a height of 300 m above
. the ground passes vertically above another
@ & plane at an instant when the angles of
(d) 60° elevation of the two planes from the same
point on the ground are 60° and 46°
respectively. What is the height of the lower
64. What is the value of plane from the ground ?
liilfll.lti 1 + 1 ? (a) 10043m
Yl+cosx 1-coex
(a) +2 {h) %?—m
2.2
[h']' () 604Fm
(c) iEtﬂIl.‘_.l |
() 150(+3+1)m
) 0

BLS<5-FDE (18-A)



2z tanf

3. A xsinf=yooad= 3 %_. A
1-tan*@
457 (%% + y0) Torm o
(a) [13+3.'2]3'
b (x2-y*P
e (xf-y*
@ ey

i2. Iﬁm&l+mﬂ3+¢:nﬂa=3 ?,
A1 &in 8, + sin 8, + sin 0, fFEH TR ?
(a) 0
b 1
() 2
d 3

YR R 7
(a) 0°

(b)
(e} -
d) 60°

a0°
‘LEIII

(1 1
'1'1+max l—max

V2

242
-I'Etm:

gin X

(a)
(b}
(c)

d o0
8LS-5-FDE

0 % FEE TH THET cos 6 + tan 6 = 1

FHAFIE?

65,

(19-A)

4 .
s A — 5 A ﬁﬂlﬁ;

T E 7
e A - sin?A

(a) cos® A-sin®A

(b} ecosA—sinA

el 1

d) 2

A Toin"x+Jcos x4 0<x <008, A
tanx FAH T E 7

@) 2
b 1
J3
() 7
(d) 315

67. UE FATE WERA, W Wb ¥ 500 m ) FEE W

= w &, & w o gt T W
FEAT T T ¢ | TG WG
60° T 45° & | e T1et war T 6w |
e

(a) 10043m

100

?5-131

5043 m

(b)

(e}

(d) 160(+y3+1)m



68,

71.

BLE-5-FDE

If £ =acos A+ bain @ and ¥ = a sin & - b cos 8,
then what is x* + v equal to ?

{a) 2ab
()

c) a%+b®

g+ b

(d)  a®-b*

. From the top of & building 90m high, the

angles of depression of the top and the bottom
of a tree are 30° and 45° respectively. What is
the height of the tree 7

(] 3043m
b}
fe) 90+3043m

9 -303 m

(d) 60+3043m

Which one of the following triples does not
represent the sides of a triangle ?

(ay (3,45
(b} (4,7,100
(e) (3,6,8)
(d) (23,8)

If the perimeter of a rectangle is 10 cm and
the area is 4 em®, then its length is

(a)
(b)
(e}
(d)

# em
bem
45 em

4 em

74.

(20-A)

The angles of a triangle are in the ratio
2:4: 3. The smallest angle of the triangle is

(a) B0°
by  40°
e} 50O
(d} 60°

A ball of radius 1 ¢m is put into a cylindrical
pipe so that it fits inside the pipe. If the length
of the pipe is 14 m, what is the surface area of
the pipe ?

[a)
ib)
(g} S800 square cm

(d)

2200 square ¢m

440N} pguare ¢

17600 square em

The areas of two eircular fields are in the ratio
16 : 49, If the radius of the bigger field is 14 m,
then what is the radius of the smaller field ?

(a)
(b
(e
(d)

4m
Bm
8m

10 m

Let ABCD be a rectangle. Let P, @, R, 5 be the
mid-points of sides AB, BC, CD, DA
respectively, Then the quadrilateral PQES is

A
(a)
(b
(e
(d)

Square
Rectangle, but need not be a square
FRhombus, but need not be a square

Parallelogram, but need not be a
rhombiia



68. UM x=acosd+baint AN

y=asinf-bosh %,?‘hf*?ﬂ Fepeen |

27

(a4} 2ab
(bl a+h
ie) af+b?
id) a-b*

6o, firdl 00 m 3l ve g & o B wE 9w %
M 3 79 F =T F FEE: 300 AW 450

flasdfidafan e
() 30J3m

() 90-30+3m
() B0+3043m

(d) 80+30 8m

70. Tl § @ S fis s e 6 el

w737 Tt & 7
(a) (3,4,

b (4,710
(@ (3,88

() (28,8

7. TR THF W W AN 10em N S

4 e &, o T o R 2

(a) Gem
(b) BGem
() 465cm
(d 4cm

BL3-53-FDE

T2

4.

75.

(21-A)

foet frge & i T T 2408 R W
firqe = wed B w=m #

{a) 207

(b) 407

e} BO°

id) 80°

foreft ¥R WY § 1 em FiEm Tl U TR
el & = god i e e B o ) AR
qrEq H FFETE 14 m B, A T T EEE
fEam 27

(a) 2200 F em
(b} 4400 % em
(c) B80T cm
() 176009 em

%) R WAl & S H AT 16: 497 |
et dH A b, SR E A
frman i

(a) 4m

b Bm

(c) 9m

id) 10m

w #ifiu ABCD % 3Fd # | 37 g AB,
BC, CD, DA ¥ weu.fa m: P, Q, R, S &, #f

=q{¥ PQRS T # 7

(a) =i

M) s, feg o i s T
(0w, Ty i o e

@ ?Whmﬁwiﬁrm
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Let P, @, R be the mid-points of sides AB, BC,
A respectively of a trangle ABC, If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is

5

— gquare units

ia) P

o
2.2
5

1 gquare units

i) EUATE UNits

)

(d) 1 sguare unit

If each of the dimensions of a rectangle is
increased by 200%, the area is increased by

{a) 300%
(b)  400%
()

(d)

Three circles each of radius 3-5 em touch one
another, The area subtended between them

{a) 6(JBx-2) equare units

(b) 6(2x-+3) square units

c) “T"ﬂﬁ-n} — W

@ -‘;—gtﬁ—ﬂ ——

i

B0,

B1.

(22-A)

The area of a regular hexagon of side “a' is
erqual to

(a) 12 a® square units

3
(b} % a? SuAre units
(e % a? square units
() % a? square units

ABCDEF is a regular polygon. Twe poles at C
and D are standing vertically and subtend
angles of elevation 30° and 60° at A

respectively. What is the ratio of the height of
the pole at C to that of the pole at D 7

(@) 1:1

1:243

243 :1

E:JE

(k)
(e)

(d)

Two parallel chords of a circle whose diameter
is 13 cm mmpuﬂt'twlrﬁﬂnm&'ﬂmin
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

{a) Bhems

(b

6 em

(e} 86em

) 8em



76, ®W ety feel s ABC &1 qa AB, BC,

7.

BLS-3-FDE

ca % menfag s P, R 7 1 3R F
ABC %1 &% 5971 750 &, # fys pr®
e fm # o

(&) %Eﬂfﬁli

5
{b) ﬁﬂﬁﬁ-’li

ic) %ﬂﬁm

idy 19 T

afE ol s & v e AW R 200%
w1 fém m, 4t St fmn g o 2

(a] 300%
(b)  400%
(e}  GO0%

(d)  BOOS%:

m!ﬁ,ﬁﬁ'ﬁhﬁﬁﬂ&ﬁm!r
THR W o W | T ¥ e
S e & 2

(8) 6(3n-2) W v
) 6(2n-3) % g

© %245-:& ot v

(d) %ﬁ-mm&

(23-A)

79. UF BA VW W Ewend, frdl oy w2,

form w0

(a) ":;E a® @ THTE
(b %a" T T
(e} %Eiarigani

(d} ij a® @ T

. ABCDEF U% @¥ ¥Fqa & | C @@ D™ 3 @

e w@E §, § AW w0 3 600 %
T HI AAfE W f | C W WE WY #
i W wEt @Y F 39E W e =
L4

fay 1:1

b 1:243

£) 243 :1

d 2:43

T g, T S 13 cm 8, 6 F TR
st i e T 6 om 3 12 em & 177
el o = o f W o, A9 e
& o & gft Reefi 2 2

(a) G6em

(b) Scm

(¢} 35em

(d) 8Sem



B,
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If the radive of a right circolar cone is
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone 7

fa) p*

b 2p?

!

p
) p{ﬂd 2

A copper wire when bent in the form of a
square encloses an area of 121 em®. If the
game wire is bent in the form of a circle, it
encloses an area equal to

{a) 121 em®

b) 144 em?

(e) 154 em?

id) 168 em®

ABC is a triangle and D is a point on the side
BC. f BC=12¢m, BD=9cm and
S ADC = 2 BAC, then the length of AC is
equal to
{a) bGem
{(b)

() Hem

id) 9em

6 em

If the surface area of a gphere is reduced to
ane-ninth of the area, its radius reduces to

{a) Omne-fourth
(b)  Ome-third
() Cme-fifth

{d) Ome-ninth

5.

(24-A)

In a trapezium ABCD, AB is parallel to CD
and the diagonals intersect each other at 0.
What ie the ratic of OA to OC equal to 7

(al  Ratioof OB to OD
ibl  Ratio of BC to CD
ic)  Ratio of AT Lo AR

(d) Ratio of AC to BD)

Ice-cream, completely filled in a eylinder of
dinmeter 35 em and height 32 em, is to be
gerved by completely filling identical
disposable cones of diameter 4 em and height
7 ¢m. The maximum nomber of persons that
can be served in this way 1s

(a) 950

(b) 1000
(e} 1060
id) 1100

The radius of a circle is increased so that its
circumference increases by 16%. The area of
the eircle will increase by

(a) 31-25%

b} 8225%

(o) -~ 3F25%

(d)  34-25%



BLS-S-FDE

g2, U T TEgEE WE 1 A d afg fEm R

Tkl e o g & 9w, A7 OAE w e |
fopm wfam gig Rt & ¢
) p*
by 2p*
2

P
© 10

P
i) p(ﬂ . m]

aft ofd % v T W % w9 0 wE T
A ¥ 121 em? BEER wiag T & | af wdh
AW F U g9 F w9 A Ay A @, A e
B aiwg swe feen @ 7

fa) 121 em®
b} 144 em®
{c) 164 em?
(dy 188 cm?

ABC T% iy § o ww BC W fag
D# |3 BC =12 em, BD = 9 em 3K
£ ADC = 2 BAC %, & AC <t v w1 it ¢

{a)
(b)
le)
(d)

TR el e W oy dEee T
towe % it fiem fem a R, @
Frem felt w2 et ¢

(a) VR
) -forerd
() o gt fem
(@ v w et fien

Hem
G em
Bem

8em

i3

86, TH TA@E (JfiTEW) ABCD H, AB 3N CD

87.

(25-A)

an # o famol owgm w1 fag 0 W
£ 1 OA R OC T T fbs = § 7

(a) OB N OD % 39A

(b} BC 3 CD % A
AD 31 AB 1 FgTA

fel

(d) AC 3R BD %1 7w

w i (fufrer) =1 = 85 em 3 dET
32 cm B, W EEEEW A g0 oW g R | W
FREEW IEM e e TWE TN
vigalt # gt e i w2, few
4 em 3N FNE 7 em ® | i 6 3
firwan e 7}, T W ven anEdm
vt = w7

(a) 950

{(b) 1000
{c} 1050

(d) 1100

w g0 @ B W ™ s s ofif §
16% # 35 ¥ | T F dva # fel oy
it 7

(r) 3125%
h) 3226%
ic) 8325%

d) 3426%



89. ABCD is a rectangle. The diagonals AC and {91. In the figure given below, I 1s the diameter of
BD intersect at 0. If AB = 32 em and each cirele, What is the diameter of the shaded
AD = 24 em, then what is OD squal to ? cirele ?

(a) 2Z2cm
b} 20cm
e} 18em
id) 16ecm
@) D(y2-1)
90, A field is divided into four regrions as shown in
the given figure. What is the area of the field ®) D(2+1)
; prpr—.
0 quars ' (@ D(VZ+2)
2m 2m @ Diz-42)
u T
q:l:P 1m
T Im 3m |92, Inthe figure given below, AC is parallel to ED
Sm gnd AB = DE =5 em and BC = 7 cm. What is
the area ABDE : area BDE : area BCD aqual
dm to?
E 5 em D
@) ﬁ+%d’5—
A Sem B T em C
(b) 51-%1'5
(a) -10:5:7
(@ E+%ﬁ§ (B) B:4:7
) ~2:1:2
@ 7+242 @ 8:4:5

BLS-5-FDE (26-A)



89. ABCD % 3ma # | fmel ac 3t BD vwhgm
® O F § | IR AB = 32 em 3R
AD = 24 em B, 1 OD e st 2 7

{a)
(b)
(e

(d) 16em

v §a (Fivg) F1 9w &t § frmfam fmm
¢, S 6 & ol A quim o & | EW
(Frez) =1 dem o Az R d 7

2m
[T O

1m

2m

Jm

3
6+ IJE
3
5+ EJE
O+ E-|.||'l_li'_

(e)

d) T+242

(27

gL, G H awh i, WE R AW DR
DT o S R Y

(1) D(J2-1)

) DiZ+D

(&) Di(v2+2)

@ D2-42)

92. R @ 7§ af 4, ac ol ED wurm §, Al
AB=DE=5em TN BC=Tem %I
§¥%H ABDE : §9%9 BDE : &9%8 BCD
e s B

E

Gem D

B em T em

10:5:7
B:4:7

(a)
(b)
(e)
(d)

2:1:2
B:4:5

—A)
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BL5-5-FDE

In the figure given below, PQRS is a
parallelogram. PA hisects angle P and 5A
bisects angle 5. What 15 angle PAS equal to?

P [}
f YA /
8 R
(a)

by 75°
e) S
(dy 100°

In the figure given below, £A = B0° and
£ ABC = 60°. BD and CD bisect angles B and
C respectively. What are the values of x and ¥
respectively ?

10 and 130

(a)
ib) 10 and 125

(¢) . 20 and 130

{d} 20 and 125

5.

(28-A)

In the figure given below, PQR is a
non-isosceles  right-angled  triangle, right
angled at §. If LM and QT are parallel and
QT = PT, then what is < RLM equal to 7

P
T
M

Qg L R
(a} ZPQT
(b} £ LRM
(¢} < RML
(dy £QPT

In the figure given below, PQ is parallel to RS
and PR is parallel to @S, If £ LPR = 35° and
£ UST = 70° then what is £ MPQ equal to ?

(a)
(b
(e)
(d)




g3, 2 %t nf sngf #, PoRS vE woem wmdw|es. % @ o sl d, PQR W fawafgE WM
% | PATEM™ PH A9 SA FW S FH Pl fiy &, Pl 3w Q womm # | af LM 3l

Ffl & | FI PAS T auet ® 7 QT HA=1 § @0 QT = PT 2, T - RLM fFas
W R
p Q .
f YA / T
M
5 R
Q L R
(a) &0° (a) 2PQT
(b 75 (b) £ LEM
() 90 i) < RML
(d)  100° id) <£QPT

9. 4 @ T W A, PQ N RS Fww § aW
o4, % & W wmwh #, sa=se W PR3 Qs wwrw § | @R 2 LPR = 35° &l
£ ABC =60°% | BD 3l cD#5m: % B 3k 2UST =70, W 2 MPQ el o 7

ﬁﬂﬂﬁfﬁmﬁ'ﬂﬂﬁtl :ﬁﬂy%ﬂﬂ

- E 7
' A
Yy
B C
(a) 103 130
) 103 125 (a) 58
() 20 3 130 fh; ::
n -]
(d) 203w 125 @ 80

BLS-S-FDE : (20-A)



In the figare given below, ABC ir a triangle
with AB = BC and D is an interior point of the
triangle ABC such that # DAC = ~ DCA.

B

A C
Consider the following statements :
1. Triangle ADC is an isoaceles triangle.
2. Dis the centroid of the triangle ABC.

3. Triangle ABD is congruent to the
triangle CBD.

Which of the above statements are correct
(a) 1and2only

(b) 2 and3 only

(c) 1and3only

d 1,2amd3

In the figure given below, M is the
mid-paint of AB and £ DAB = £ CBA and
£ AMC = / BMD, Then the triangle ADM is
congruent to the triangle BCM by

C D

(a) SAS rules
@ 888 rule
(€ ASArule
()  AAA rule

(30-A)

89, ABCD is a square. X is the mid-point of AF

and Y is the mid-point of BC.
Consider the following statements :
1. Triangles ADX and BAY are congruent.
£ DXA = £ AYB.
DX is inclined at an angle 80° with AY.
4 DX is not perpendicular to AY.
Which of the above statements are correct 7

(a) 2,8 and4only
(b} 1,2and4only
{c} 1,3 and 4 only

(d) 1andZ2only

From an seroplane vertically over a straighi
horizontal road, the angles of depression o
two comsecutive ldlometre-stones om  the
opposite sides of the seroplane are observed to
be o and f. The height of the asroplane abow
the road is

@) tan o + tan fi

tana tanf
O evead
o n::::ﬂﬂﬂ
“ s



91. 9 @ = s 4, ABC vw fgw # Faed

AB = BC } 701 Byg ARC ¥ v% i famg
D, 59 W B % s DAC= - DCAR |

B

A C
Frafifio et @ faw Hifim

1. firg® anc vs wfig fgm &

2. fg ABCT FSw DR

3. fqw ABD i Fqw cBD wabmem £ |
sl g E A A

(a) e 132

(b) e 23 3

() WaEe 13T 3

i 1,233

g8, 9 & wf awh #, AR weafig M T

ZDAB= 2 CBAR 3 2 AMC= #BMD % |
7 fgw ADM i fgw BoM Fem Frem &
wain § 7

c I

() SAS fm
(b 588 Fm
(e) ASAFrm
(@) AAA Frm

(31-A)

99. ABCDUF @1 % | AB % weufimg X 1 BC

w Fefg Y E |
Taaferfian s w fim $ifaw

1. Fays ADX it BAY TabmEm B |
2, £DXA=Z AYB.

1. AY% T DX, 60-% W W HET R |
4, AYT DX TE 8 1

FE s A SR o 0

(a) e 2,33 4
(b) e 1,234
() e 1,334
(@ Waw 132

100. w dft &fow T F FaEhw FW w wEE

a0 A, 2 e e & wed, W wEn
awd % faulla Ransdl § §, & s@wm w0 o
i p ifira fse e # | 5% % FW W
i S T 7

tan o + tan fi

o tan o tan fi

tan o tan

) tan o+ tan f

oot o oot i

i ot o + cot P

cot o+ oot P

@ cot @ cot.



T 7F HTUET Tg TN Gl @ier St T SgT TG A7 7 7 @A

#.4ft 4. : BLS-S-FDE T g AN

iteror gt

urfvie v
R : gt avg gorfes 2 100
EGE

A

wftet WATW B o g @1, H 3E e i £ ugme sy w5 e gl w5 fen e,

T T YT FIAT 6B SverEn weAiw, iR A g | afE ven R, A g vt whew giee & age fifig |
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Note : English version of the instructions is printed on the front cover of this Booklet.
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